L’ arrondissement (B)

Arrondissez chaque nombre ci-dessous a la dizaine pres.

90 76 67 80

21 40 56 88

57 45 426 350
255 272 791 303
202 992 760 921
1,509 6,783 3,418 3,816
9,548 2,171 7,117 5,694
3,253 8,520 45,718 37,944
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L’arrondissement (B) Solutions

90
90

21
20

57
60

255
260

202
200

1,509
1,510

9,548
9,550

3,253
3,250

Arrondissez chaque nombre ci-dessous a la dizaine pres.

76 67

80 70

40 56

40 60

45 426
50 430
272 791
270 790
992 760
990 760
6,783 3,418
6.780 3,420
2,171 7,117
2,170 7,120
8,520 45,718
8,520 45.720

80
80

88
90

350
350

303
300

921
920

3,816
3,820

5,694
5,690

37,944
37.940
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